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Ratio to CMS

=
o
w

=
o
N

=
@)

[HEN

=
<

=

[EEY

0.5

7000 GeV pp W+Jet

_| | I I I | I I I | I I I |_ 9
c
= Pruned jet mass (anti-k_(0.7), 125<p_<150, |y|<2.5) = %
— —H=
— —™
B —™
- |
= Ho
— —]
— e
B o
~~~~~ o
—— — _:2
= =~
= =
— — ™
— <
B ™
©
—— = o
= =M
— 94
— B CMS - E
— —A— Pythia 6.428 370 Bk
= --8-- Pythia 6.428 391 35
— Pythia 6.428 default <
- —&— Pythia 8.308 default 18
[%)]
= =
— 94 <
— =2
_| | | | | | | | | | | | | | | |_ £
:l T T T | T T T | T T T | T T |:
= —2
1
| —0.5
| |
0 80

(m_ 1+m_2)/2[GeV]



	Contents
	Page 1


